7T 00000 (0DODOOoOooooon)

(20110 1028000)
O0o0oo0dOo”000d0oOo”0, 0000000, 000000 oooOooooa
.00ttt ou,odotdodououonooooooon
0o, 00o0doogooodobooogoooooooobD. gooooooooo,
gooo,000obdoonoooon,ogoog,ooogo,ob0goooooo
gbdduououotuotdouououoooooo ssuouoag.

71 O0O0O00OO0O0OOOO0ODOOOn

00 711 X,y0ooooOo,7T: X - yO0O0OoO, 2(7)=X00000000
2(T*)cyDOoOooooooon

ye T <L ze X, Ve e A(T), (T, y)y = (x,2)x. (7.1)

a)ye2(T)000 (7.1)0 e XO0000. z=T0000, (T 2(T")):Y - X
(y—T)00000. 0007000000 (adjoint operator) 000 . 00 X 00
00000000

ye DT — z— (Tz,y)y (2(T) - K)OOO (7.2)
b) XO0OOOOOOOOOTEB(Z(T)—Y)eT e BY*— X)OO

1T ly=x = 1Tl 21)-y- (7.3)

00 XO0OOOOOZT) =YOOT e BIT) =»Y) s T e BT — X)
ad

T | 2(r)—=x = [|T||2(7)=v- (7.4)
0
000a): 2 3000 (7.1)0 :000000000000000000, Ve e 2(7)

god
(Tz,y)y =(z,2)x =(x,2)x, 000 (x,z—2)x =0.

2(T)000000 =2 00T 000000000000y, € 2(T%), (yn, Tyn) —
(y,2) 000.0000,Vze 2(T)000

(Tx,yn )y =(x, Ty )x, 000 n—o000 (Tx,y)y =(x,2)x.

00 ye 2(T"), z=T*y.
(72): =0 (7.1) 00000000 «0000 fo(z) = (Te,y)y (z € 2(T)) 0000
0fe#(X K OOODDODODOOOO (00 423). 00 00 43400 f= (-, 2)x
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002X O00O0OOO.00ye 2(TY), z=T"y.

b): 00000 2" =y000000(2.16)0 2(T*) =Y 00

ITzlly = sup [(Tw,y)y|= sup [(z,T"y)x]
yeD(T*) ve(T*)
lylly =1 lylly =1

OO0 supweory DO O, 000000000 sup000ogon,

=l x =1

IT||2¢ry»y = sup sup [(z,T"y)x|= sup [T"y|x = |T"[|o@@-x-
yeD(T*) weD(T) yED(T*)
llylly =1 =l x=1 llylly=1
00 XO0OO0OO0OO0O0O0O0,7€%2(T)—Y)00 (7.2)00 2(T*) =Y. 0

001) 7000000000000 00000000000000O0oooOoOO

x Ly

- . (Tz,y)y =(2,T"y)x, Yz e D(T), Yy € 2(T). (7.5)
X — Y

2) 00 71.10,X,Y 000DOO0OO0O0O00O,X,YOOOOOOOOOO,O000O
000000000000000000000000000 (00 85.1)000000
ooo.

0711 XY 00000,7,:X —-Y 0000, 2T,)=X000((G =0,1).
TocTy, = T;>Ty 000,

071200000 711000,2(1)=X,92(T")=y000.0000,7"%
(T*)*000000.0000,000000)7CcT. ii)700000 T=7*.0
0000 7430000000000.

o0 712 XO0OOOOOOO. ooooooooooo 7 X—-=X000OOooo
(symmetric) 0 0 0 O
(Tw,y)=(z,Ty) z,y € (T (7.6)

00 (T)=X000 T": X —->X0O0O0O0OOOOo 71.10000000000000
(76) <= T CT".

2(M=X00T=T"0000T0O00O0O0O0O0OO (self-adjoint) 000. OOO T
goboboogobboooooon.

0713 (000)X000000Tz=cr,zeX (ceKOOO)ODOO0OT*y =y,
yeX. 0OOz,yeX O0OO

<T£U,y> = <C$’y> = <$,C*y>.

OO0, 700000 <= ceR.
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0714 (00)X =K, Y=K"O000O0Ok=(kj)icicw O (n,m) 0007 : X =Y

1<j<n

0 Tex=kr 0000007 y=Fy, 00 k0 (mn)00 0000 (,7) 00 =k
ooo

(Tx,y>yzz<zn:klxl>yj Zx] (Z lgﬁ) = (z,T"y)x.

D00,700000 < m=n, k= ki

0715 (0000000)X 0000007 :X - X0000O0O00O0OOO0OOO
T*=T-'.000z,yeX 000 ::=T"0O00O

(Tx,y)=(Tx,Tz)=(z,2)=(x, T y).
000,700000 <« T?=1.
0 7.1.6 (00)XOODOODOOPe%(X —»X)00,000000000
a) PX L (1— P)X.
b) P? = P.
c) Pr=P.

0000,a) «b)&c). 000, PO00000 <3°a)&b) < b) &)

O00a)=c¢): 000 z,ye X O
(Pa,y)—(2,Py)=(Pz,(1-P)y)—{(1—P)z,Py) 20, 00D P*=P.

a)&c)=b)&c): 000 z,ye X O (Pr,(1-P)y) L (x, (P Py). 000, 0O
0c¢)0000,00 a),b)0000000000OCODODOO. O

0 7.1.7 (00000)(S;,4,1;), =120 c-0000000k € L2(311 ® ) O
noo

Ta(s) = /5 k(s () dp(t), = € L2(m)
afufufsfslslalsls T:L2(u2)—jL2(u1)DDD
Tyt = [ ket vlsldin(s), v e L)
00 (S, @, 1) = (S, 9, 12), k(s,t) =k(t,s)* 00 T=T*007T000000.

000 du(s), due(t) O ds, dt ODODODODOO

(T, y )12y = /y / k(s,t)x(t)dt

_ /Zx (/ <3>t)*y(5)ds)*:<x>T*y>L2(u2)' =
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0 7.1.8 (000000)(S,«,x)00000m:S—CO00,000S,c.«00
00000000

SicSc.., S={]JS.

n>1

w1(Sy) < oo, sup|m| < oo, ¥Vn> 1.

n

00 X=L(p00o00ooo0T,:X—-X0O000000o0

DT ={reX; mre X}, Thxr=mz, zecPT).

oo0ooo0o02T,) =X,T,=17,-.000,7T00000 < 000000

0Doo1) 2(T,) = X:

Pn={z:X—>C;00000,5\5,0z=0}, 2=|J%

n>1

000002cCc2(T,)CX,72=X.
2) T C T y € D(T.) 00000y € XT), Tyey = Ty 00000000
Ve e 2(T,) 000 z,mr € X OO may € L' (),

/me-y*du: /mx-y*du: /x-(m*y)*d,u: /x-(Tm*y)*du

000 ye D(T%), Ty =Try.
3) T C Ty ye 2(TH), Th=200000y € (T, Ty =200000000
Vz e 9(T,,) 000

/Tma:-y*d,u:/x-z*d,u ooog /(m*y—z)x*d,uzo.

HEN
x—{ ﬂiz:jl {s€S,; m*(s)y(s) #2(s)} 0000
0 goooodgao.
ogoogo
/ |m*y — z|du = 0.
Sh,
nO0000000z=m"y.000 ye€ P(Tn:), Ty = 2. O

72 0OOO0O0OOO0OOOO0ODOODOODOOO

riggbooobooboobooobooboobobbobbooboobooD. g
oboboboobboggepbooboobobbobeebubooboobOon
gobobboobobbobtboddooooooobbbobboboooooooobobooon
gobobbobboouooooooobbbooobbobougoooooobobooon
gbobboooobbbuooobbodao
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00 7.2.1 X,v,Zz0OOOOoOooOO.
a) T,5:X -»y0DOo0O0,2(M)N2(S)=X0007T*+5*c (T+5).00
2(T) c 2(5), 2((S+T)) C 2(S%) (7.7)

00 7%+ 8 = (T +9)".

)T : X VY, S:Y > 2z0000, 9(T) = 2(ST) = X, 2(8) = YOOO
T*S* C (ST)*. 0O

2(T)=2(5T), 2((ST)") C 2(5%) (7.8)
00 T*S* = (ST)*.
O00.):000000000000000000O 1)=2)0000
1) y € D(T* + SO Ty + S*y = 2.
2) ye 2((T+8)), (T+8)y==a.

1€ PT+8)=2(T)Nn2(S)00000002(T+5)=2(T)N2(5)0000
0oo1)00
(Tx,y) =(x,T"y), (Sx,y)=(z,5y).

goo

((T'+ S)x,y)=(Tr,y)+ (Sv,y)=(x,Ty) + (z,5"y)

(x,2").

0002)0000000000000 (7.7)000002)=1)0000(7.7)00ye
2(5%).000000 € 2(T+S)=2(T)000

(z,2") =((T+S)z,y) =(Tx,y)+(Sv,y) = (Tz,y)+{(x,5y)

ggd
(Tx,y) = (x, 2" —S*y).

000 ye2(T*) 00 Try=2'— S 000 1)00000
p):0000000000000000000

X 5 v 2 oz
x & v & oz

O000000000000000000 3)=4) 0000
3) 2 € YT S)OTS 2 = o'

4) 2 € ((ST)"), (ST)*z = 2.
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r€2(ST)D0D000D003) 00
(STx,z)=(Tx,S*z) = (x,2").

000 4)000000000000000 (7.8)000004)=3)0000000 ¢
P(ST) = (T)0D0 4) 00 (STw,z = (2,2/). 0000 (7.8)00 2z € 2(S*) 0O
O (Tz,S*z)=(z,2). 000 S*2€ 2(T*) 00 T*S*>=2.0003)000000

00(7.7),(7.8)000 SO0000000000O
0000000000000000000000000000

00 7.22 X, Y OOOOOOOOOT: X—-YOOOOoogT)=X0000O

N(T*) = (TX):, V(T =TX, (7.9)

N(T) C (TY*):, A(T): DTy~ (7.10)
ooo

TX =Y <« T:*000, (7.11)

"Yy=X — T0OOO. (7.12)

00000000 (790000 (711)0 «0000000000000000
TODODOOT'eB(TX - X) = TY = X. (7.13)

007, 7*0000000 2T Y)Y=TX00D00000 (T-HYy*00000000
(T~ = (T (7.14)
000a):(7.9) 0000000000 31600000000000000000000

yeN(T") <= yeg(T), T'y=0
— yePT), (Tx,y)=0, Ve P(T)
— yecV, (Tr,y)=0 VYoec 2(T) < yc (TX)*.

(7.10): Vo € #/(T), Yy € 2(T*)000 (2, T*y) = (Tz,y)=0. 000 A4(T) C
(T*Y*)Y, #(T)* > T*Y*. 00 #(T)' 0000000 (7.10)000 0

(7.11), (7.12): 0O OO (7.9), (7.10)0 00 O

(7.13): 2 € X+*DO0ODO0OO0D000 gy (T 'ya' Vx 0 (TX)*00000
03geY* glrx =g (0 4330003y €Y, g=(-y)y (00 43400000
Ve e 2(T)DOD

(Tz,y )y = g(Tx) glrx=g0 go(Tz) = (T 'Tx, 2" )x = (z,2" ) x.
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00y eg(T™), Ty =«
(7.14): T, 7*0000000 (832)00 2(T-Y)=TX000. OO

Zeg((T7)), (T ™)' =y = YWwed(TH)=TX, (T 'y,2")x =(y,y )y
< Ve e D7), (v, 2/ )x =(Tz,y )y
— Yy egT), Ty =2
o S e, (@) =y

000 (T = (7). 0

00T € 4(X —»Y)00 (7.10)000000000000000000000000
7.2.100

2) 0000000 (834000000 (0000 10550000). 70000000
00000(7.11)0070000000Vze X, Jye 2(T%),z=T*y. 000000
beTXOODO

(T, 2)=(T7',Ty)=(TT 'b,y) = (by).
D000000000BCcTXOOOO

sup [{ T4, )| = sup (b, )| < oo.
beB beB

00000 105500 77'BO0O0O0OOOO T € B(TX — X).

0721 X,YODOOODOOOOT:X -YDOO0OO2(7T)=X,2(T*)=Y 0O
D00000000001) A(T) =2T)n(I*Y) i) 00 T € B(X — X) 00O
ANeop(T) <= (M —=T*Y # X.

00 723 X, YOOOOODODOOOT: X —-YOOOOOoO2(T)=X00000OO
oboobon

a) TO0D00O0T'eBY — X)O

b) TOOOOTX =Y,T'e€ B(TX — X)O

c) T*0000(T") e B(X —Y)O

O0000a)=b)<ec). 000b)O0 (7.14)000.007T00000a)¢)0000

O000a),b)000000 52100000

b) = ¢), (7.14): (711)00 T*0000 (7140000 (7.13)00 T*000000D0
2T H=TXCcYDODODOOT'exy(TX —-X). 00000 71100 (T"YHY* e
B(X —-Y). 00 (71400 (T = (T*)"'0

¢)=b): (7.12)00T0O00. 00000 @®3B)0D000(T ) =(T*)'teB(X —=Y)
000 711b00 Tt e B(TX — X). m
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00 724 (00000000000)X0000000007T:X »>X 00000
2(1)=X, A eCOO0000O000O

NN =T =((A=T)X), /¥ N =T =0N-T)X. (7.15)
00
NN =T)=0 <= A\-T)X = X. (7.16)
O0O0(715)00000000000000000
p(T*)=p(T)", OO oT*)=0o(T)". (7.17)
OO0 Mep(T)OOO
(T* =Xt =[(T— N~ (7.18)

000(7.15):(7.9) 000 0.
(7.17)~(7.18): 00DOOOOOO

) Aep(T) T - 000000 (7= )" =[(T -\
0000000 723000000 O

0000 72300 po(T*) D po(T)*O000C00000ODODOOOOOOOOODO
gbbboodgbobobooaobn

00 7.25 XO0O0OOOOS,T: X —-XO0000O02(T)=X,T*>S000.000
OOoooboboboooogog 1Tr=-9S.

a) U0 NeCOOO(T-MNX=X,(S=\)X=X.
b) OO XeCOOO XNep(T), \* € po(S) ((6.2)00O).
c) XO0O0O0OOODODOO0SO0O0ODD0O00000O0 A AeCOOOd xep(T), € p(S).

O00a): (7.15)0000000000000.0000

€

(7.15) (T = NX)* = <(T——>\)X> =X+ =0

N (T = \%)
0o
T — X 000,85 X CT =\, (5—\)X =X,
D00S—-M=T—X(0000000000000000),00 §=T~

b)Aep(T)00 (T-MNX=X. 00 X ep(S)00 (S—N)X=X. 0000 a)0
000
¢):0000 p(S) =pe(S)(00 6.1.2).000 b)yODO OO O

0 7.2.6 (0000)X=[*R)00,0007T:X»XO000000O0O
2(T)={xre XNACR), ' € X}, Tz =2
goagd
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a) T*=-T.000irooooo.
b) o(T) = o.(T) = iR.
000 a)y - TCcT z,ye2(T)OODO.

(xy*) = 2'y* + z(y)*, ae.

[ty =t [t

00 zy* € LYR) OO0 lim, ., zy*(£s)=0. 0000

UbbO0Os<t¢t0O0O0

Afwz—éﬂw*DD<T%m=—WwW

00 ye AT, Ty = —y.

7" ¢ -T:XOODOOOOOODOTO (000 —T0)0000 (0 52.7). OO
o(T) ¥ iROO 1€ p(T)Np(-T). 0ODDO T,-TO00 7.25c0 7,S00000
0ooooo

b): o(T) = iR, 0,(T) = 0 (0 6.14). 000 o(T) = P0O0D0D0DODOO
T*=_TOOVAeCOOO

O—DX "2 y(\+T) =0 =X. 000 o.(T) = 0. 0

0 7.27 (0000) X = L*(R),
2(T)={r € XNAC*R); 2/,2" € X}, Tx=2" (00 52.600).
D0o0ooooooT ="T.

O0O0 a:TCcT z,ye 2(T),s<t00O0.
¢ ¢ ¢
[y =yt [ oy =l )l [ ey
00 2y z(y) € LY(R) 00 lim, ,  2'y*(£s) =lim,, z(y)(£s)=0. 0000

—=——=5—0Q0

00 ye 2(T*), Ty =Ty.
T cT:XOOOOODOO,700000 (0 61.50000). 00 o(T) %Y (—c0,0]
OO0 1ep(T). 00000 7.25c00 T =T.
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73 Uouobobbooooboboad

ooooooooboobboooboo rr-r200b0000,0000,0b000
gboboooobooooono

o0 73.1 XOOooo,0oo0 7" X—-X00OO0O0OoOoooooooooooo
a) r,ye 2(I 00O

(Ty,z)=(Tx,y)*. 00 (Tz,z) € R. (7.19)

b) e 2(T), \=¢+in (E,neR) 000
1A =T)z||* = [|(€ = T)xl* + n*|l]. (7.20)

¢) oy(T) C R.
d) )\1,)\2€R, )\17&)\2, $j€JV(>\j—T) (j:1,2) 00 z; L xs.

e) TODODOOO,

sup (T, z)| =T (7.21)
000a): (Ty,z)=(y,Te)=(Tz,y)"
b):

IA=T)z|* = [I(§ = T)z + iz
= (€ = T)z|* + 2Re { (£ — Tz, inz ) +n*||z|*

N J/
~~

(*)

00 {—TO0O000000a) 000000 (x) 0000000 Re(x) =0.

) Aeo,(T) D0 ze #/A—T)\{0} D00DOOO0D (7.20) 0000 5 =0.

d): (M =Xz, 20) = (Tay, 29 ) — (21, Tx9) = 0.

e 000 <0 >0000000.<O00000000O0O0O0OOCOOODOOO,>0O
000000000 s0000000z€X, |« =1000s> |T2|0000000
O000Tz000000000w,ve X OO0

4Re( Tu,v ) (719

2(Tu,v)+2(Tv,u)
= (Tu+v),u+v)—(T(u—v),u—"v)
< s (llut ol +llu = vl?) = 2s (lull® + [[o]*) -
000 u=||Tz|Y?2,v=||Tz||""/?T2 000000000000
ATz < 2s(|Tz)| + | Tz]), OO [[Tz| <s. O

0731 X00000000,T€e%(X—X)00000,7T*7,TT*000000
O |T* = T*T|| = |TT*| DO D.
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XO0OOOOOooooo,000007T0000000,00:C\RCp(T)OOOO
goobooo

00 7.3.2 (0000000000OOOO0)XOOOOO,T:X—-X0000O0OOO
gbooboogooboood

a) C\R C po(T).

b) D0 AeCOODO (T —ANX = (T - \)X = X.

c) T =T

0000 a)=b)=c). 000XOO0O0O00O0000O a)c)000.

O000a) = b): 0000

b)=c): 00 72520000 S=T7000000.

¢)=a) (XOODOODOOOO): T=T007000000 po(T)""2 p(T). OO
OC\RCp(I)DDDDDD00000AeC\ROODOO(7.20000A—-700000
A-—T)"'0(O-T7)X000000000 AD 000000000000

OD—DX "2 v -1t =0t = x.
000 Xep(T). O

gbbbbbuoooooooobbbbbbbbouodgoooooooobbbobn
gooboooobobboooobbobooonon 104.1,0 10.4.30

0732 X0000000007:X—-X00000000000. A¢oy(T) <
A-—TX=X000.000000«(T)=000000

0733 X0000000007,,7T,:X -X00000000000OOT,CcT,0
000T,=7,0000

74 (x»)000000OO0ODOODOOO

o0 v4300000000000

00 7.4.1 000 00 711000, 9(T%) = {(y.T*y) ; y € 2(T)} (T*0000),
00 J(z,y) =(—y,2), (v,y) e X xY OOO.OO0OO,

G(T*) = (JY(T))*, (7.22)

obooboboobbooboobo0 vYyxXoodo 221,0 23300000000000
goobooo
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oo

(y.2) € (JZ(T)" <= ((4,2),(-Tz,2) )yxx, Vo€ D(T)
<— (Tz,y)y =(x,2)x, Ve e 2(T)
= ye T, :=T"y. O

00 7.4.2 X,y 00000000, 7:X >y 00000,2(T)=X000.00
00, 2" =y 00 T=T"

00000 2(T%)=Y,00 2(T)*=0000.0000 9(T)CcXxY 0000
00,000 J9(T)CY xXOO0O.00YxX0O00O0O0000 000,

(722) 1 (3.19)

1) G(T*)*+ (JY(T))" JY(T).

ooo,

ye (T <= 0={(y,z)y = ((4,0),(2,T72) )yxx, Yz € 2(T")
— (5,0 e9(T) L i9T) = y=0.

oo 7™ =T70o00. 0 71200 T**CTDDDDD.xE.@(T**),y:T**LEDD
Vz € @(T*)7 0= <Z7y>Y - <T*va>X - < <y7 —l’), (ZaT*Z) >*Y><X
000 (y,—z)e9(T)*t =J9(T), 00 (x,y) € 4(T). O

00 743 (0000O00O0O0O0OOOD)X,YOOOOOOooOO, T:X—-YOOOo
0,2(T)=X0O0O0.0000,00000

a) TOOO.
b) 2(T7) =Y.
00,a)-b)000000000000000000

Ty =T, T=T".

000 a)=b): 00 74200 .@(( ) =Y OOT=(T)). 00 (T) =700
0000.00,J9T)=J9(T)=J9(T) 00

G(T))=J9(T) =J9(T)- =9(T*), 00O (T) =T

b) = a): 0 7.1.2000. O
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75 (xO0OO0OOO-00000O0O0O00O0

00 7.5.1 XO0OOOOOT € %X - X)0000eeSY {zeX; |z =1} O
0000000000000
a) ee A(|T||=T)u AN (=TI -T).
b) [(Te.e)|=|T].
00 7TOO00O0000000000 eeSO000000
O000a)«<b): = 0000000000000000 2z€X 000
(TN £ T2,z ) = |IT|[|«]* £ (Tz,2 ) > 0.

00000000 (z,y) — ((|T|+T)zy)000000000000000000
(2.16)0000

1) (TN £ T,y ) < CUATN £ T,z )T+ Ty, y ).
OeO0b)00000DO

(T +T)e,e) =0, DOO (([T]|=T)e,e) =0
00001)00

(T +T)e.y)*=0, OO0 ((IT] - T)e,y)*=0.

y 00000007 +T)e=0000 (|T|| —T)e=0.
00 7000000000b) 0000 eeSO000000(7.21)00 e,€S 0

[(Ten, en )| — [IT]

000000000000 7000000000 (00000000000) Te, 00
O000000O0Oe, 00000000000 000000000000
len =TI Ten|* = 1=2||T|| 7 (en, Ten) + TN 72 | Tenl* < 2—2||T| " (en, Ten) — 0.
——
<|IT)2
000 e, 000000 0
00 7.5.2 XO0OOOOOT e #(X —»X)000, dimX = oo, r ¥ dim TX (< o0)
00000000000000 (en)ns: 00000 (A)es: 00000000000
ooo
T =M= |X| = ..., n=1,2,... (7.23)
en €N (A —T), n=1,2,... (7.24)
r<ooOO N\ #M\j1=0, (7.25)
r=oco 00 N\, #0,n=1,2,...00 lim A\, =0, (7.26)

n—oo

Ty = Z Az, e, )en. (7.27)
n=1
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000 A\ e ROO X 0O ONSe,,n=1,2..0000000000000 7510
e€S0e00000ee A/ N—T),00 [\ =]T[ )iy, (e;)7, 000D
D0000OR, =7 ,Ke; 0000X, 70000 R}, Tl 00000 7510000
ent1 € SNRED epi1 € N (Mpp1 —T), 00 Aot = |T]p | DO0OOOOOOX O
0000000000000000000000000000000 (en)ws1 0 X O
ONSOOD0O(7.23)+(7.24) 0000000 (7.25)~(7.26)0 00000000 1)-3) O
noo

1) n<r+100 N\, #0,
2) r<oo 00 Ay =0,

3) r=0c000 lim A, =0.

n—oo
1):>\n:ODDDDDDDDDHT!R#AH:)\n:0DDT|R#1:O.DDDdimRn_1<oo
000 31500 X =R, ®R-,. 000TX =TR,1 C R,,. 00O r =
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